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POINTS TO PONDER

1. The xnna says that the niwn can'’t be going according to 1'xn 2, because he doesn’t hold of
[N yniw AnX IX? 79on. Why can’t it work as a 1, he started saying something but didn’t
complete the sentence?

2. The xna says that n"~ doesn't hold that |n yniw nnx 17 7750 and brings a proof from the
conditions set with jaix1 121 1a 2. How does this prove his position? Maybe there's a
specific 21m>n n1'1a which stipulates that a 'xan must be explicitly spelled out.

3. Further to the above, does 1'xn a0 argue about the actual concept of |n yniw nnx IX7 77on?
For example would he argue the same if it was concerning 1on Ix nann?

4. The |1 writes that n'7win' can mean the city’s earth and stones. Why don’t we say nno
amnn? 0 like the | himself says earlier regarding |"'21n77?

5. The | writes that without the ">~ we would think that he means xm'x '‘na. How would that
apply to o1 Ix D'xy which don’t have life to them?
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If you have any comments or suggestions, please email Rabbi Grunhaus at Ygrunhaus@gmail.com
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